" Ma}& GO

&M/ﬁr 0 ¢ Ruadritic Equations and (Quaiwﬁ‘c Fivnetions

(©.] gohmﬁ 2 Y28
l@‘j é@mp(&‘f'@:/@ Squate.

D Selvm MQWWMS

o . oo eauahons Hlhat ake
o S;lup:ﬂ/%aﬁﬁ%o o

. [0 wadizhic Benclions
oK &baj; ?l«%/? —fiansr%m‘ms

.S &radoh/l\/\ﬁ ﬁ(,wwb@tﬁc) was
uSZVL@ prazp&fel—v"es

106 Palﬁ noriicl ZEnequg,{/KheQ

§L «'wo*'" jo. g

(U dayd
(1 dag
(3 digys)
(1 dagd

( 1dag)

2 claeds)



Makh GO 0.1 Soluivg, Quadintic Equations by Completing.
“The Squane .

D%eeﬁ\}e‘s D Boloe @{M&ra:fw, Q%mahm}s Ustng the Sqpuare

Moot Prop@df\j_
2) Complete Hao Seguare  ovie viable
2) So&}e ql,mt&‘raﬁic, %.%uaioﬁav\s b‘d‘ C/u”YV\/dO,%V\_g

The SGUua;w,,
(‘:) Selie pﬁo&»?@m& ustng (o ngaﬂ%mhﬂeemem,
Review, :
D Solve RP-tx = -6 .
slep it Nohee /XQ') which makes Hais a %ua&mtﬁb QF@}‘?’? ‘
Stepd! Sed=o.
XABK 4 6=0

%EBI Tacior covvgo‘@fe(,?,
(x-A) %x-3)= O

stopd: St fadors="0 ounel isolacte
)«=a %>3(

—}/ﬁ-,.g Vaﬁqk]e,

ek (ohat 1§ Hie vomial does ol ﬁac‘b:?
Q) K=5x+A=0
G’befb g 6’6‘* gghc—i’ﬂle/;« et lod J:DY J;VLOQ‘M@ values 91QO< %+
Wede /i/(/ds uaRon “+vue .
Achually, well ged +wo Wieffieds
. Jelve bﬁ ?impﬁfw%%@ Square C,’bchgb
2, Oclue b%). fwe %LL@UBJL@ Forrnulea (nech c(OLSS),
Lets build wp o AW,



“Matt. o 101

@ %O“\)@ 0229 =0 \&%“Q&C)}m\m%—

(x-3)x+3)=0 Lok
K2=0 KAD= O Lactors=0
Y/)C;B’ H==3 ‘l, | solate.

Netice“The 4wo Soludions Can be uvaritden as

@ SOU)-& /72,"6[:0 Uﬁl)ﬁ% ‘e gaD\,L(,uQ T\OO‘(‘ pq\ope‘:haa
M tﬁowe /\/\/\_e 5%&W€»

= |
. USQ —*er 99?{9; re -pogir Pcop@mam TS Sa,%L% we.

ShepQ |
e cllowed o ek e SGRATE cook of Lottt
SdeS ;_% we e rnoinkel O \6&?-’—\“\

Hpord e+ use £

Jr = Ja.
\/j;\ =3 Jre= =7
i m:t.,a\:g_ o

%mee oot pra&)eﬁ‘%

& sdue (x 2y =9 by e ©
'/\cz{/(/o%m\m | 1PQ/‘ZQ\’:SC‘?§%&WQ,.
| s Tsolated !

%DB—- Use sguare vooY pro(\),e,fhér

Jo—ay =da

‘ieﬁ?)—— vivite fuoo ,@D\Laf\ans == 3 X—= =D




Math 6O (o,
Solve (B3 == | |
\m = i‘iﬁ square roof )@f@]é@rio()

AX—3 = +NF W= = —\F A eqns -
B\X: 34'5 N = ’5._-\{;

— 3.5
*= 23 x=32 -
f a =

/H/L\\S Answer can alse Yoo umtten us4 vk%:it

o

¥ can %Q.%@ be wWritken as owe Lot o

— 3 T \r_ <~ HD S VL\“QCLGQ
2 %weﬁpve? E&biﬁ

See Inext Cxawu.‘ofe;

& Selve (3x-2)= -4

AX-3 = T \X—::f Squaire root )Ofooozmé_
AX—D= T AL 87 mp(ﬁ% “mag mr’é%’
Ax-B= A &?04«3- AQC
Ax= 3+ ‘&(,
- N S

We 5\/@@_@\ addwaus worile C,amu:)lé)c nuwvloer ansuenrs

w standaird {ovn, a+bl  (asta );»i'@ﬁ—gaaﬁcvw.

@ TS @DSO aCCJafr‘aUﬂ



" MeH o 1o
Bu&‘/ wohadt (|£ Q\»Lé viot o per-\ced‘ &cbuctre?
“Then we Ouild @ pefect square
Redlewy ! @) Si mpliy (X 3>
= (42 (K43
= X F 3K+
= f X?WL Q=X 97
— A C W
| =0+ e +a) < Pgdet s
CHL L Starting flom 6x

Fnd GQ A e number 94
b} Y ExpresSioN Xy3B.

(e, |
. Q@qul@/m “+he So,bqa)rg 95‘7;’ 6% = &b
__?L_?ﬁL_ make sure 1t i?oﬂ‘) net X" e —X° v
othere cgﬁ?@jd\-@mt besides 4.

% L
e Avnone  CT5 will NoT work (ot ever) @ Fhe
leading, coethdent is not 1.

€

,5—’\—2@52—— Take lhalf o8 cHie coefBicreint o0 Yhe middl
Ferm. o'x
= b

Lt Sowmetmes

= —é—»é o7 % <
2 5. «e—This \$ Xe iumber we aeed
Por Frecpression (D) -

2=« This & Yhe number W=
need 4o McQ +o by \d A

per?e& Sobucua‘,

cont=y



Math GO 10.)

Aeph IA%Q @ﬁ%}w& {C{)ﬂ , add Ahe 3C()U~C€ire¢@ V\bu’nlser\'
do beth sides 6R o = g

MHex +94 = R+ 9
L~ o~

_@:(%EE: Recall Jlad 3 would be used o Lind Oct3) .
Lorite ’HN@ MHS as a Peﬁcec% Scéucure/ + add

| LCM%)?’ =

N Comg\e—\%' oy Ale sqyuasre 7 (QTS) = weanivg
Fnat e foand o Aunlber ue could oc‘dlcQ % \
T botth 8ides 4» make & ?{u@eo‘} S%U,are +1nomial,
| We codel ow solue The Q;bwcrﬁc\n ,
Sole (x+3) = 1l
K+d = & \\_\T
(x=—>1{1 |
@ Solue 3% - LO=0
%Eﬁ\ D Tselate twe Square.

3= 60
> 2

K= DO |
?ﬁ@a‘- quv,m root \@m@@(f\ﬂéﬁ

= TN\0O
X=x\us

RHS.




Matth GO lo. |
Dovr... T !-eww""ﬁcq 4/\/\—6_ %Muﬁra;:(—{‘c__ "QJF‘ML&_LJ\.-
]O@‘FDYQ/ ond T can do Hiat LD-?/‘H?,V* +liain
gom(ol-e;‘ﬂ'taq +h< S%umm.

WHY SHoulLD T Deorea LEArRNINSG cTs ! “

B-ecarse w will need TS W 12,2
w‘/\ﬁvx wWe  worlkk on Q%ucd—fawS of circles
and Fheece's no “Yeirdle Covmaull’ 4o save
hou [as Areve was a “ventex Lovamrole o

Cave Yo udi%\.(ama—‘@o\&'s}c

%'(EM WMe o ou yv\.ou.k, v'\-e_e..o\ cCtS 4o So&u_o_j
Wiwd s OS; %U;.a_év‘(\c&:\'\c‘-‘ -Q.—c\))\o;\’i oS

oL Jose = wWeve vax teloles |
WW

Certain

-QUY’ TN



C et @@ o, | -

Sep dede & \ar coeld. V
meve e ,Q/Y»\Er\ﬁ\/\% a4 Yo RHES

/K(Z"%', = A
s 1 CTS ’% - 4 &= # needed for facter

('—%) = b6 & :H"’Qtd,cJLZA o bOi’elétopeS

A8 Hll = —4+1b
ic@%* Wride F@zﬂfc& scﬁu&u@,} add REHS
(x=4) =
ij%ﬁi so lue \0% Squere root- ‘omqoer’hé_
x—t = £\F
(x=4t 7]

@ Golie. X +Ux43=0
%‘—— Q’X?' 1l Must divede all derms 195\ A,

¢
SkgD: CTS %:\ P
V=\ &= ¥ 4o add bt sides
X TE N ¥\ _-’5\_;\_\ Coﬁ



CMa o (o,
%

= ) b ‘ e
(s 1)= 5 il perect square.
Al = X :él[ Sqraie Yoo t meﬂ‘%
x= —| t = (s
v (selade 7x
= B
- —’I t _(L:/’ 95}_ QIMA«,?@,C% \J—’
3 o - :
SR |
2
P%Mmdm/ﬂ/\mm ' |
© > & *CS(CQ@) l/tapo\lem"f’e’/

Rasz\’rtwﬁfzg W \Q /"(:6?@@% P e

&Q,‘&\JOL _ G:z L\i ,,’/ v\iad,\/ﬁ- a,m%,l@
. o
* CAUTION * — b —>

Whein ust -9 aﬁ%g‘“cfaio QK press loms e side lengthis, loe
Sure 1o use_pafentheses

2 i 2
a + b= ¢
incdhes 2- ‘
= 3 (x4 Y 4 20 = 12 s
lnchne2 /3\ L}»
s has X n £ — canT |
(D) tnelae Lse square Property yetr
(e D 4 aE=169 s
XA A Ax=169 Forl
2 —
o™X = |6¥ divideto

| |0 \0 gk X2



1 — luce
— 34 reduce frashons

5 5
0 TN
0 2 =3 isthe

Reme et 3 =

\/\a\{: > 5 1o .
same as wlt \a%—’é
soe |
- )
Xod de + 1 = By ) v
5 (Yol 5 Yoo QCQCZQ % ‘\00-‘—9\ 5“(@),25
N
uSe  UooTY @L\OO\’\Q/ 4o Wi e Q'a.c;h:\rl.
> , :
5 - 20 ioo Find P
&*&-\'Jg S 1650 + | aded Frachonrs.
Vo {00
(x-\— AN = k%
{0 —_—
OO
oo
KNl = T 2L
- \D

= L 4
X \o”*l"

(&
X = Yo o~ ’_% "—Lf——’— = "\*9‘ :@—
|0 (v 1o o 5
‘@,Xhﬂ- Nne oS ~ Ca"“}'
Lave V\‘@?ﬁ;hb”e "€V‘®

STCQQS D‘Fw[/v;ah?/ez.
I = 39 = \W
il = Y+ =1 5 luches

Ztmem 13 Tuches

XK= 4




